Installation Steps

Please read the installation instructions carefully before installation. The front and back of the board
are different. Be sure to see it clearly before operation. Attention shall be paid to the sizes of screws.
Before installation, be sure to know well about each part and make an inventory.

*The drawing is based on the package 5. Number of parts is slightly different. In case of any questions

upon instaliation, please contact with Online Customer Service.

Parts List:

A small decorative spacer

x3 1 panel board

2 long guard board 3 left guardrail board

B  big decorative spacer x2
C short rotating handle x4 ai | ol 5l
B fang rofataganie <4 4 right guardrail board | -5 host holder .—-5 keypad board "
E 1-inchwheel X2 < \: \ N & f
F 1.5-inch wheel x4 x1 - x1 |
i 7 elbow pipe 8 U-shaped pipe . 9 table leg
G small wrench S x1
H dual-purpose screwdriver =— x o
I hanger rod @ x4 x2 pairs ‘ 7 x1 |
J M6x12 flat-end screw @}m x4 12 jquigeial
K M5x50 pointed-end screw @UWW x10
L M5x60 pointed-end screw (), ) R
M M6x25 flat-end screw x2
N M4x8 flat-end screw £ J x4
O tapping screw Bn x4

Installation steps:

Step 1: Inset the elbow pipe [7] into the steel frame
on the back of the panel board [1], and screw up the
short rotating handle [C] for fixation.

*Notes: The holes of the elbow pipe [7] face outwards

Step 2: Screw the 1.5-inch wheel [F] onto the table
leg [9] with the small wrench [G], screw out the nylon
parts on the table leg [9] with the dual-purpose
screwdriver [H], insert the table leg [9] into the elbow
pipe [7], and align with corresponding holes and
screw up the long rotating handle [D] for fixation.




Step 3: Connect the guide rail [10] and the hanger
rod [I] with the screws [N] (4 ones).

*There are two rows of elliptic holes on the guide rail. Upon installing
the hanger rod, be careful to choose corresponding holes.

Step 4: Fix the parts finished in the above step onto
the back of the panel board with the screws [J]
(4 ones). &

Step 5: Fix the keypad board [6] and the parts
finished in the above step onto the guide rail [10]
with the screws [O] (4 ones).

*There are no holes on the board. The tapping screws shall be screwed
into it directly.

Step 6: Connect the long guardrail board [2] with the left
guardrail board [3] and the right guardrail board [4] with
the screws [K] (4 ones), place the small decorative spacer
[A] into the holes of the long guardrail board [2], place
the big decorative spacer [B] into the left and right
guardrail boards [3][4]; and install the whole onto the
panel board with the screws [K] (4 ones).

Step 7:: Screw the 1-inch wheel [E] onto the U-shaped
pipe [8] with the small wrench [G], connect the U-shaped
pipe [8] and the host holder [5] with the screws [K] (2
ones),and connect the host holder [5] and the table leg
[9] with the screws [L] (2 ones). The mstallataon is
completed. AT




